#H ik | A& K4 2% B XE4 RS EEEES
1 100 11.00 | +1.3[EE WE 3 |#&%Ek B =ZERE 10.10 [*
2 100 1117 | +2.0[ILEE HEX 3 [A+8&% B ZERE 10.10 [*
3 100 11.18 | +1.9 JIIEARBIE 3 |f#F BiE ZERE 07.23 [*
4 100 11.20 | +2.0 [mE ZEEH 3 |WER B ZERE 10.10 [*
5 100 11.32 | +2.0 (EH# &EH 2 [E% B ZERE 10.10 [*
6 100 1135 | +2.0 [fhEE =& 3 |&H 1IN Fyhh -AR INERE 11.03 [*
7 100 11.36 | +1.9 [sh)Il EE 2 [E#0 ErFZEHXFE REH 08.29 [*
8 100 11.45 | +2.0 | 1ZA 3 [|#&d B ZERE 10.10 [*
9 100 11.46 | +1.4 [BE A= 3 [BF BIEREREES ZERE 06.19 [*
9 100 1146 | +2.0 [ %Al 3 |[AR R’iE ZERE 07.23 [*
11 100 11.47 [ +19[IhE BX 3 [EF0 BErFREHXFE REH 08.02 [*
12 100 11.48 | +1.7 [lLMA 3 3 |#PF BiE ZERE 07.23 [*
13 100 1150 | +1.1 [hEEEE ESS BiE ZEEE 07.23[*
14 100 1152 | -0.4 [l K2z 3 |[—&F ZERIHut v ZERE 09.04 [*
14 100 1152 | +1.8[mA ZEEH 3 [/MgE Lo ZERE 10.10 [*
14 100 11.52 [ +1.3|fRO 3B 3 |mHE B ZERE 10.10 [*
17 100 1153 | +13[AR B{X 2 |BE B ZERE 10.10 [*
18 100 1157 [ +11[HAKX —i& 2 |RXK RBiE ZERE 07.23 [*
19 100 1159 | +0.4 [FE8 &F 3 |#PF SHE T AL R = (F4E) HENE 09.11 [*
20 100 1161 | +1.0 [&dF —H 3 % ZERIHIut v ZERE 09.04 [*

#H ik | A& K4 2% B XE4 RS EEEES
1 200 2191 [ +20[EH WE 3 |&3kd iR ZERE 07.30 [*
2 200 22.25 | +1.5 JIIZEABIE 3 |#PF BiE ZERE 07.22 [*
3 200 22.60 | +0.3 [l Kz 3 |[—&F BiE ZERE 07.22 [*
4 200 2267 | +1.1;@H# EH 2 [E% BiE ZERE 07.22 [*
5 200 2277 | +20[ILEE HEX 3 |E+& =R ZERE 07.30 [*
6 200 22.78 | -0.5 [[EE A7 3 |BaF PO B R -2 b P EH 06.12 [*
7 200 22.87 | +1.8 [t K& 3 |22 R’iE ZERE 07.22 [*
8 200 2292 | +20[FE8 &HF 3 |#PF =R ZERE 07.30 [*
9 200 2295 | +1.6 [fhE =& 3 |&H ZERIrtut yh ZERE 09.05 [*
10 200 2296 | +15[FX &7 3 [#ABRSER BiE =ERE 07.22 [*
11 200 23.05 [ +1.8|h)lIl HE 2 [E#F0 BhPREMKXFE E=L) 08.29 [*
12 200 23.06 | +11[/hE BX 3 [EF0 BiE =ZERE 07.22 [*
13 200 2310 [+18|iuA $E 3 |BE BiE ZERE 07.22 [*
14 200 23.23 | -0.5 [lLMA B 3 |#PF M0 B R -2 b e H 06.12 [*
15 200 2336 | +1.0 [BM X& 3 B =ZF BRIt v) =ERE 09.05 [*
16 200 2341 | +0.3|%# R 3 [—& Bz =ERE 10.09 [*
17 200 2342 | +1.1[%k&F HE 3 [)\E BiE ZERE 07.22 [*
17 200 2342 | +03[mmiE X% 3 |#E RBiE ZERE 07.22 [*
19 200 23.46 | +0.3 [E# EX 3 [#24 BiE ZERE 07.22 [*
20 200 2348 | +1.0[BlE WX FIEE ZFERIsE ) =ZERE 09.05 [*

#H ik | A& K4 25 B XE4 RS EEES
1 400 51.84 * |l K2 3 |[—&F EX=EXES 2B 08.22 [*
2 400 51.98 * |[BE AF 3 |BF P8 BRI b o H 06.13 [*
3 400 52.18 N ECEE RS FEE B =ZERE 10.10 [*
4 400 52.48 * |Hf HHE 3 [#&sRdt A7 YU MFATARY PE]=H 11.03 |*
5 400 52.87 R EE LG 3 |#PF Lo ZERE 10.10 [*
6 400 52.89 * |WE FH 3 | B ZERE 10.10 [*
7 400 52.92 * [EMEX 3 [#24 B ZERE 10.10 [*
8 400 53.08 N EEES 3 [IEF0 R’iE ZERE 07.23 [*
9 400 53.18 S E 3 |mg BEHF ZERE 08.10 [*
10 400 53.20 * [kF HRE 3 [)\& =R ZERE 07.30 [*
11 400 53.25 * |%H BEF 3 | B ZERE 10.10 [*
12 400 53.37 B EI R 3 |pkfE B ZERE 10.10 [*
13 400 53.57 * [kE —E 3 |ZEEXME [ZEHBEEE2R) ZERE 10.03 [*
14 400 53.60 =T 3 BB MBEEEELLmE) ZERE 06.06 [*
15 400 53.83 * [mE #X 3 |BEER B ZERE 10.10 [*
16 400 53.98 R ES: #h 3 [—& A7 YUMFATARY PE]=H 11.03 |*
17 400 54.20 S EESEPN 3 [B#fn BiE ZERE 07.23 [*
18 400 54.25 S £ = 3 |BlgE EhFHEHXFE HENE 08.27 [*
19 400 54.34 * |y XAl 2 |BH0 EXLEZON HEHR 10.23
20 400 54.44 * |EH BEX 3 |BaF BEhFHEFE HENE 08.27 [*




#H wix | BAE K& 2% B XE4 RS EEEES
1 800 1.59.21 * |EHE R 3 [#ABRSER =R =ZERE 07.30 [*
2 800 1.59.58 S T3 EEE BAY 127TER N T 02.11 [*
3 800 2.00.31 * |WE FH 3 | =R ZERE 07.30 [*
4 800 2.01.85 ES:- 3R PN 3 BB =R ZERE 07.30 [*
5 800 2.03.70 (R FEE 3 |®#F =R ZERE 07.30 [*
6 800 2.03.98 - 3 [)\&E BESF ZERE 08.10 [*
7 800 2.05.54 * B A 3 |&3kd BiE ZERE 07.23 [*
8 800 2.05.57 * | I B KER 3 |[MBTE BEpF= X FE AT 08.27 [*
9 800 2.06.41 B E = 3 [diE FETETES ZERE 06.10 [*
10 800 2.06.44 * |EE B 3 |#PF B ZERE 10.09 [*
11 800 2.06.46 B ECEEPS FIEE BEhZRIESTFE ZERE 09.24 [*
12 800 2.06.97 * Al #ii 3 |B8EI B ZERE 10.09 [*
13 800 2.07.27 S ETEEEDN 3 [MER BEPFE ZERE 08.10 [*
14 800 20750 [ * /bl Elth 3 [KK HEMERE(E4RE) HENE 09.11 [*
15 800 2.08.06 B EI R 3 [mfE BErFREHXFE E=L) 08.29 [*
16 800 2.08.12 B EL 5% 3 |&luEp RBiE ZERE 07.23 [*
17 800 2.08.31 * |y XAl 2 |BH0 EXLEZ N HER 10.23
18 800 2.08.53 * [ZE #F 3 |[BE BEhFFRIEXFE ZERE 09.24 [*
19 800 2.0866 [ * [d#  # 2 [B8F SHE T L= (F4E) HENE 09.11 [*
20 800 2.08.83 B ELEEER 3 |RER B =M X F:E mmEH 08.27 [*

EH wix | BE K& 25 B XE4 RS EERES
1 1500 40806 | * [EWL EX 2 |[—& Y aZ7HvE ) BERY 7L [ 10.23]*
2 1500 4.08.88 EE R 3 [#ABRSER BESF ZERE 08.10 [*
3 1500 4.09.54 * kB KB 3 ¥ =R ZERE 07.30 [*
4 1500 4.09.58 R IEEE: 3 AR =R ZERE 07.30 [*
5 1500 4.17.59 * B A 3 |&3kd iR ZERE 07.30 [*
6 1500 4.18.63 * |EE B 3 |#PF PO B R -2 b o EH 06.12 [*
7 1500 4.19.06 T i 3 [)\&E =R ZERE 07.30 [*
8 1500 4.19.52 * | E=A 2 | ZERItut v ZERE 09.05 [*
9 1500 4.22.55 L ER>] # 2 [B8F BEHF ZERE 08.10 [*
10 1500 4.23.00 * A fE 3 [—& BiE ZERE 07.22 [*
11 1500 4.23.96 * [JAEAER 3 |mBHmE BEHF =ERE 08.10 [*
12 1500 4.24.61 B ETEEEDN 3 [MER BIEREREES ZERE 06.19 [*
13 1500 4.24.82 B EI 5% 3 Bl =ZEFE mEH 10.02 [*
14 1500 4.24.87 * [T EE: 2 [&Es P8 B R -2 b P H 06.12 [*
15 1500 42589 | * [XFE #HX 3 |EEB ZEMREHREFE4R) EEL) 10.23 [*
16 1500 4.25.95 * [lWE BHE 2 | R’iE ZERE 07.23 [*
17 1500 42618 | * [@EHE FA 3 |88 EM KRR (ELE) HEME 04.10 [*
17 1500 4.26.18 R IERES EES RBiE ZERE 07.23 [*
17 1500 4.26.18 LIS 2 |R~& BiE ZERE 07.23 [*
20 1500 4.26.40 S E z 3 [k BIEEREES ZERE 06.19 [*

EH wix | A& K& 2% B XE4 RS EEEES
1 3000 8.53.45 * kB KB 3 ¥ Y aZ7HvE ) BEAMY 7L | 10.23 |*
2 3000 8.59.60 R IEEE: 3 AR BESF ZERE 08.10 [*
3 3000 9.03.10 * |EHE R 3 [#ABRSER B ZERE 10.10 [*
4 3000 9.05.92 * |mL EX 3 [—& BEERBEHREEZEEE3ME) INERE 09.18 [*
5 3000 9.10.50 * B A 3 [#&%Ek B ZERE 10.10 [*
6 3000 9.14.43 * |KE B 3 |#PF BESF ZERE 08.10 [*
7 3000 9.16.22 * (g EH 3 |#&%Ek B ZERE 10.10 [*
8 3000 9.16.61 * [mEE FA 3 B8 =R ZERE 07.30 [*
9 3000 9.18.39 * A fE 3 [—& BEERBHREEBEEE3M) INERE 09.18 [*
10 3000 91924 | * [F EED AELE m B R BE B % F 48 (5310E) g 12.18 [*
11 3000 9.24.02 * [lWE BHE PIRIEE L o H 06.13 [*
12 3000 9.25.39 S E S 2 )i P8 B R -2 b P E 06.13 [*
13 3000 9.25.40 | * (M F#H 3 |#&%Edk ST EFHE(E420E) HENE 08.08 [*
14 3000 92711 [ * |&B 53 3 |BlsH snETRIEEEFEGEESM) HEME 12.04 [*
15 3000 9.27.69 * | =A 2 |#eis B ZERE 10.10 [*
16 3000 9.30.00 [ * [|&HNI EER 3 |[FRIF EhE T EFHE(F42E]) HENE 08.08 [*
17 3000 9.3058 [ * [|$#E Eik 2 [ M A 1 K IR gt E FHE(E31E]) ZEELH 12.18 [*
18 3000 9.30.67 R EIEEES 3 |—&F BiE =ERE 07.23 [*
19 3000 9.31.17 | * [#E Xih 3 & B0 R RIER AL AR S (BE3E) INERE 09.18 [*
20 3000 93159 [ * [|dH XE&E 2 [FRrI5 snETRIEEEFEGEESE) HEME 12.04 [*




#H wix | BAE K& 2% B XE4 RS EEEES
1| 110YH(0.914) | 1456 | +1.5 [&3# #H 3 |[—&F Bz ZERE 10.10 [*
2| 110YH(0.914) | 1464 | +15 [t R&E 3 |22 B ZERE 10.10 [*
3] 110YH(0.914) | 14.92 | +15[EX %= 3 [#ABRER B ZERE 10.10 [*
4] 110YH(0.914) | 1517 [ +19[isn =& 3 |EH BiE ZERE 07.23[*
5| 110YH(0.914) | 1524 [ +15[luix kE 3 |—& Bz ZERE 10.10 [*
6] 110YH(0.914) | 15.35 | +1.5 [@E+t =&iA 3 |#&%Ek B ZERE 10.10 [*
6] 110YH(0.914) [ 1535 [ +15][F BR& 3 |#&%Ek B ZERE 10.10 [*
8| 110YH(0.914) | 1550 [ +2.0 [fAIdt XMB 3 |&H B ZERE 10.10 [*
9] 110YH(0.914) | 1564 [ +16[EF #Ht 3 |&H B ZERE 10.10 [*
10| 110YH(0.914) | 1573 | +1.1 [BE&E =i 3 [f1E BIE =ERE 07.23[*
11] 110YH(0.914) | 15.86 [ +0.6 [#l)Il BEE 2 |k ZERIHut v ZERE 09.04 [*
12| 110YH(0.914) | 15.97 [ -0.9 [fiFE@ &KX 3 |#H EELEED Y N L 06.13 [*
13] 110YH(0.914) | 16.02 [ +1.7 [F#&ER #* 3 /MR EhFFRIESFE ZERE 09.25 [*
14] 110YH(0.914) | 16.08 [ +1.6 [lLJIl E=#i 3 [E% Bz ZERE 10.10 [*
15] 110YH(0.914) | 16.12 [ +1.9 % =E#&EE 3 |[AR RBiE ZERE 07.23 [*
15] 110YH(0.914) | 16.12 [ +2.0 [®E X¥& 3 |[—&H Bz ZERE 10.10 [*
17] 110YH(0.914) | 16.17 [ +1.9[BAX BX 3 |[FRIK RBiE ZERE 07.23 [*
18] 110YH(0.914) | 16.18 [ +2.0 &% K=E 3 |#*E B ZERE 10.10 [*
19] 110YH(0.914) | 16.35 [ +2.0 [m#F &K FES] B ZERE 10.10 [*
20| 110YH(0.914) | 16.42 | -1.1 |[AA %X 3 [BE# WIEFE ZEEE 07.25 |*

#H wix | BAE K& 2% B XE4 RS EEEES
1] 1100H(0.990) | 15.25 [ +0.2 [&# #h 3 |[—&F ZERIHut v ZERE 09.04 [*
2| 1100H(0.990) | 15.38 | +0.2 [[EA &7 3 [#ABRSER ZERIHIut v ZERE 09.04 [*
3] 110JH(0.990) | 15.39 [ +0.2 |5t R&E 3 |22 ZERIHut v ZERE 09.04 [*
4] 110JH(0.990) | 1585 [ +0.2 [ien =& 3 |EHW ZERItYut v =ERE 09.04 [*
5] 110JH(0.990) | 16.16 | +0.2 [FE#t 7FiA FIEE S ZFE BRIt v) =ERE 09.04 [*
6] 110JH(0.990) | 16.45 | +0.7 [Iux kiE 3 [—& =BEI)E v) ZERE 09.04 [*
7] 110JH(0.990) | 1651 | +0.2 [F [R5 3 [&%Rd4 ZF BRIt ) =ERE 09.04 [*
8] 110JH(0.990) | 16.77 | +0.1 [[AI& XB 3 [&H ZFE BRIt ) =ERE 09.04 [*
9] 110JH(0.990) 16.91 [ +0.6 [Ed #th 3 [&H ZFE BRIt ) =ERE 09.04 [*
10[ 110JH(0.990) 17.03 | +0.7 [FEE = 3 [\ ZE BRI ) =ERE 09.04 [*
11] 110JH(0.990) | 17.10 [+0.1|k&E BE%E 3 [%kE =EE It vh ZERE 09.04 [*
12| 110JH(0.990) 17.45 | +0.6 [Nl #Ei— 3 [\ME ZE BRI ) =ERE 09.04 [*
13] 110JH(0.990) | 17.58 [ +0.7 [/h#k FE:} 3 [Fm EECNZ PR ZERE 09.04 [*
14] 110JH(0.990) | 17.64 [ +0.6 [lER 1&K 3 |[FRIZ EECNZ DI ZERE 09.04 [*
15 110JH(0.990) | 18.04 | +0.7 [l #&#t S ZERIUE v ZEEE 09.04 [*
16] 110JH(0.990) | 18.36 [ +0.6 [ £# 3 [E% ZERIrtut vh =ERE 09.04 [*
17] 110JH(0.990) | 1872 [+0.1|[&E ZEA FELE: =ZFE BRIt v) =ERE 09.04 [*

EH ik | BE K4 25 B AE4 kst EEEES
1 £ Bk 1m93 * |[WE BF 2 |[&H Bz =ERE 10.10 [*
2 £ Bk 1m82 B EETERS 3 |EHW BE =ERE 07.23 [*
3 £ Bk 1m78 * |[Eha -8 3 [m®8 EECNIPAEY =ERE 09.04 [*
4 £ Bk 1m76 *BER RE 3 [#&vyE Bz =ERE 10.10 [*
5 £ Bk 1m75 * [1m =B 3[R REEFHE EE-L) 08.22 [*
5 £ Bk 1m75 * [N A AR 2 |®myE tEmESEL =ERE 10.19 [*
7 7 = Bk 1m73 * | KFE BT 3 |BEBEI Bz ZERE 10.10 [*
7 £ Bk 1m73 S EEIE TS I ES] Bz =ERE 10.10 [*
9 £k 1m70 * |AE KB 2 [AE®A R’iE ZERE 07.23 [*
9 £k 1m70 * | KE %BE& 3 [@E® BEPFE ZERE 08.10 [*
9 £k 1m70 * |BE &5 3 |E# ZERIHut v ZERE 09.04 [*
9 £ Bk 1m70 * [hiEERNERE 3 |ABHE EECNZ DI ZERE 09.04 [*
9 £k 1m70 * |EH 2] 3 |[BE&E B ZERE 10.10 [*
9 £ Bk 1m70 B CESEPN 3 [B#fn Lo ZERE 10.10 [*
9 £k 1m70 * [BER HE FEES Lo ZERE 10.10 [*
16 £ Bk 1m69 * [ BER B 3 |Rt+# BEhZRIAESTFE ZERE 09.25 [*
17 E =Bk 1m66 * | REBNIHE 2 |®yE EhFHEHXFE HENE 08.27 [*
18 £ Bk 1m65 * | 2R 3 |#ELE B ZERE 10.10 [*
18 £ Bk 1m65 * |EH BEX 3 [BF Lo ZERE 10.10 [*
20 £k 1m63 * g 8L 3 [k BErFREHXFE E-L) 08.30 [*
20 £ Bk 1m63 S 3 |BEBE FBETETES ZERE 06.10 [*
20 £ Bk 1m63 B ENTEE &5 3 /MR FRETEZTES ZERE 06.10 [*
20 Em Bk 1m63 I E T 2 |[J\R =M X A E63E) g 10.16 |*
20 £k 1m63 EA ES 3 [WF B2 =Mt X F:& mmEH 08.27 [*
20 £k 1m63 * BB B#% 3 [KK EhFHEHXFE HENE 08.27 [*




#H ik | A& K4 2% B XE4 RS EEEES
1 BBk 3m90 * |EH EH 3 |/MR FETETES ZERE 06.10 [*
1 #EE Bk 3m90 G EEESS 3 |#H HighF B 08.10 |*
3 ek 3m80 B ES 5F 3 |FE+& BEHF ZERE 08.10 [*
4 ESER 3m70 E i 3 |/MR BEhZRIAESFE ZERE 09.24 [*
5 #EE Bk 3m50 * ihdR st 3 [BF HhETRERRE4E) HETE 09.11 [*
5 ek 3m50 * [BRA MEA FES] L /o EH 06.12 [*
7 BBk 3m40 S ELEE N 3 |BPE BEHF ZERE 08.10 [*
8 e Bk 3m30 * [k =B 3 |#H M0 B R b P H 06.12 [*
8 ESER 3m30 * [fIE X 3 |wEHE WREFIE ZERE 07.25 [*
10 o Bk 3m20 * s fith 3 [iBK BH2FRAELSTE ZEEE 09.24 |*
10 EISER 3m20 * ke =B 3 |#*E Bz =ERE 10.09 [*
12 e Bk 2m90 * Em ME 3 % BIERRREES =ERE 06.19 [*
12 e Bk 2m90 * B KE 2 [EHEWL FETESES =ERE 06.10 |*
14 e ik 2m80 * | E 2 2 |x# BIEEREES ZERE 06.19 |*
14 ek 2m80 * [Kp —F 3 |BPE W BREFIE ZERE 07.25 [*
16 BB 2m70 *FI KE 3 |[x@E AEthR RS (EIRE) ZEEE 10.17 |*
17 ESER 2m60 * i A FIEE FETETES =ZERE 06.10 |*
17 BB 2m60 * @A g 3 [#gEl FEHEZES ZEEE 06.10 |*
17 ek 2m60 I IES 3 3 |/MR FETETES ZERE 06.10 [*
17 ek 2m60 * |BE Ath 2 IR FETETES ZERE 06.10 [*
17 BBk 2m60 S T ErFFRIESFE ZERE 09.24 [*
17 ek 2m60 * B FH 3 |E# BEhFZEHXFE HEHR 08.29 [*
17 ek 2m60 * (#A Wi 3 |BaF BEhFHEHhXFE HEME 08.26 [*
17 ESER 2m60 E i FES] L mmEH 06.12 [*

#H ik | A& K4 25 B XE4 RS EEEES
1 FREED 6m84 | +1.8 |BE K& 3 [iE% BiE ZERE 07.22 [
2 FEES 6m58 | -1.9 [AHd HE 3 |&3kd PO B R -2 b o H 06.12 [*
3 g Bk 6m49 | -1.0 [XE [E&E 3 [J\A EEL L 06.12 |*
4 FREES 6m43 | +0.3 [&d — EEE] BEHhZRIAESFE ZERE 09.24 [*
4 FEES 6m43 | -0.4 |#fE BT 2 |=H Y AZTRYUE v HEAY 7L | 10.24 |
6 FREED 6m38 | +0.9 [}@ Rt 3 |X@E BiE ZERE 07.22 [*
7 FEES 6m32 | +1.8 [#& [EFS [ ELE] BiE ZERE 07.22 [
8 FEES 6m23 | +0.8 |fIF &KX 3 |#*E SR REE=EE2E) HENE 05.01 [*
9 D 6m20 | +1.1 [FEKRK TH 3 [)\&E BiE ZERE 07.22 [*
9 EE Bk 6m20 0.0 [&FI & 3 |BE BEHF ZERE 08.10 [*
9 EE Bk 6m20 | +1.3 |8k &% 1 |MBmdIMx  [SETEFEE42ME) HENE 08.08 [*
12 FE NS Bk 6m17 | +1.2 [#&ME i 3 [/ME BErFFRIESFE =ZERE 09.24 |*
13 RS 6m13 | +1.2 [dE)il R 3 [Bfn EEER=EE2E) ZERE 10.03 [*
14 RS 6m12 | +2.0 [tA REF L ZERIIut v ZERE 09.05 [*
14 FEES 6m12 | -1.2 |&# #h 3 [—& PO B R -2 b PE]=H 06.12 [*
16 FEES 6m07 | +0.9 Bl BTE 3 |Rt+# ErFFRIESFE ZERE 09.24 [*
17 RS 6m06 | +0.6 [lUA HA 3 |EE AP X k= (E3E) ZERE 10.17 [*
18 FAEES 6m03 | +0.9 [f8FE KX# 3 |[BE&E BErFFRIESFE ZERE 09.24 [*
19 FEES 6m01 00 [HE EA [ ETE:] =R ZERE 07.30 [*
19 FREES 6m01 * | BB AH 2 |R~& = mih XA (FE63E]) o H 10.16 [*

EH ik | A& K4 2% B XE4 RS EEEES
1 =R Bk 13m34 | +1.4 |[&Fd —i 3 |mg B ZERE 10.10 [*
2 =Rk 13m08 | +1.2 [HiE {BF 2 |[&H B ZERE 10.10 [*
3 =R Bk 12m95 | +1.4 [t K& 3 |22 Bz ZERE 10.10 [*
4 BBk 12mo4 [ +2.0 Bl BFE 3 [E+% By ZEEE 10.10 [*
5 =R Bk 12m91 | +0.6 [FEFT ®&iE 3 |&kd Bz ZERE 10.10 [*
6 =Rk 12m78 | +1.0 [#& [EFS FELE: B X FE HENE 08.27 [*
7 BT 12m72 | +1.9 [#AZE XF0 3 |[BEE B ZERE 10.10 [*
8 =Bk 12m61 | +1.8 [/h#k FE3F 3 [fm B ZERE 10.10 [*
9 =Bk 12m53 | +0.8 [A#t #XK 3 |#*E RBiE ZERE 07.23 [*
10 BT 12m47 | +1.3 |[dhia & 3 |[BEE B ZERE 10.10 [*
11 EETN 12m46 [ +02 [K#E ZEN 3[R BIE ZEEE 07.23[*
12 BT 12m45 | +1.8 [&)Il ER 3 |BE BiE ZERE 07.23 [*
13 BT 12m42 | -0.3 [F@ Rt 3 |X@E BErFEREEFE ZERE 08.27 [*
14 = Bk 12m40 | +1.5 [N BE= 3 |[ZZ WBREFIE ZERE 07.25 [*
15 BT 12m33 | +05 [#E [Ei&® 3 [)\&E BiE ZERE 07.23 [*
16 BT 12m30 | +1.3 @k #HX 3 |fIEFD B ZERE 10.10 [*
17 BT 12m27 | +0.5 | B 3 |#&%Ek B ZERE 10.10 [*
18 BT 12m19 | +0.4 |2 HEE LR 3 |#&m®™ WBREFIE ZERE 07.25 [*
19 =Bk 12m15 | 0.0 |F)II XiE 3 |—& B ZERE 10.10 [*
20 = Bk 12mi13 [ +1.2 [£t@ BT 2 |BlE BEhFHEHhXFE HEME 08.27 [*




#H ik | A& K4 2% B XE4 RS EEEES
1| Fa#i%G.00) | 14m21 * [EO Igth 3 |/MR BEHhZRAESFE ZERE 09.24 [*
2| Faiik(5.00) | 12m74 * [#HE 2 3 [#gEl Ed L ZEEE 08.10 |*
3| FAi%(5.00) | 12m52 * | A= FGETS HEPF ZEEE 08.10 |*
4] FH$Z(5.00) | 12m50 * | KE #N 3 [iE% =R ZERE 07.30 [*
5] #Ai(5.00) | 12m31 * |Fim &KX 3 |#H ZERIHut v ZERE 09.05 [*
6| FaHL#%(5.00) | 12m05 * |HHBEES 2 [1E% WBREFE ZERE 07.25 [*
7] Faiik(5.00) | 11m94 * =K = 3 |BE JL=h-zn" ) ZEEE 04.25 |*
8| fa#i%(5.00) | 11m55 * |HE &% K EEL L ZEEH 06.12 |*
9] Faxix(5.00) | 11m54 * R g 3 |#H BE ZEEE 07.22 |*
10] FaHRI%(5.00) | 11m22 * |WE BHE 3 [IEF0 BhPREHMXFE E-L) 08.29 [*
11 Faa#%(5.00) | 11m19 ET - S 3 |ZZ BiE ZERE 07.22 [
12| s #%(5.00) | 11m17 S K# AET EiR ZERE 07.30 [*
13| Fa#%(5.00) | 11m05 * [l &Z 3 WA ZERIrtYut yh =ERE 09.05 [*
14| FaHhi%(5.00) | 10m85 * B B 2 |=ZR BhFFRAESFE ZEEE 09.24 [|*
15| Fa#%(5.00) | 10m81 &R FE 3 |iES BErFEREEFE ZERE 08.26 [*
16| FaHI%(5.00) | 10m73 * |[BE £X 2 |#IREF B P =M X F:& e H 08.26 [*
17| % (5.00) | 10m71 * |#EL RE 2 [BxE EhFFRIESFE ZERE 09.24 [*
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